exp (y¢) = exp (eary) + exp (1)
(1=a)b(1—mn)exp((—=Ct) etcuy (e—v¥)+Yzus+huy (¥ —1)) = (1 -b) exp ((—lt))
ab (1—7) (1—0) exp(y: + (—=Ct) e+ cary (e — 1) — hagy) = (1 —b) exp ((—It))
Bexp(e (—Cit1)) (a (1—0m) exp ((e — 1) eamreqr) + (1 —a) nexp ((e = %) crgr + (¥ — 1) kuy)) = aX exp ((—=Ct) e+ cpy (e — 1))
Bexp (e (—Cry1) + (e — 1) eargqr) (1 +exp (ri1) (1 — 7)) + 7 601 — 6a1) = A exp ((—=Ct) e + eary (e — 1))
0 exp (yt — kare—1) = exp (re)
(1—0) exp (y¢ — hare) = exp (we)
exp (yt) = exp (0 kary 1 + (1= 0) (hary + 2014))
exp (Ct) = (a exp (cars €) + (1 — a) exp (ecr))
exp (l;) = 1 —exp (hmy) — exp (hare)
exp (cae) = (n exp (Y hue_1) + (1= 1) exp (b (20 + hary))
exp (zary) = A exp (karg) — (1= 6ar) exp (kar—1)
exp (zry) = A exp (kuy) — (1 —6m) exp (krg_1)
exp (zt) = exp (war¢) + exp (Th )
exp (ki) = exp (knry) + exp (km )
exp (Ty) = 11, exp (hasy +we) + 7 exp (karg_q +7¢) — 7% 6ar exp (kars_1)
ZMt = PM ZM¢—1 T €EM¢

ZHt = PH ZH¢—1 T €H¢
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